$
% D' Q 8 SITh ApOoOEi, TOPSIOK NEUCTBUIM CO CKOOKaMHU

Nwms: Jara: Orenka:
1 3, 31 3 1 3, 33 3
(5 2) 2(3 2) (2 5) 2(2 2
1 3 3 1 1 2
24+ Y -+ x4 = — )Y - x2?xZ=
@r3r-37g” G=3 73%2%3
1 1 1 3 1 33 3
34 Y ——+524+ - = T+ o+ (2=
G373 3 G956
1 2 1 3 3 32 1
3— P —ZxZ492= 2 2R 2 (o=
( 4) %3 (4 5) 5(3 (4))
2 1, 1 3, 301, 11 3
—_ — ( — X = — [ — — — = —_— = —_ — — — ) =
(3 (6)) 3 (6 5) (5 6) 2(3 4)
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A QB

ISTh Apo0eid, MOPSAI0K AEUCTBHI CO CKOOKaMU

Nms:
1 3, 31 3 11 1
(2 5V +3(3+5)= o =4
5 27 23 20 25 25
1, 3 3 287 17
Q+-Y -+ x4="=15—_
372 4 18 18
1, , 1 647 17
+ )y —=+ —=— =35—
G+3) A 18
1, 2 1 2743 103
B--)Y-Zx-+22= =11
4 5 3 240 240
2 1, 1 1 3, 17
—_ —( — X = — [ — — — =
GG *37 G735 "5

Jara: OreHka:
1 3, 33 3 449 49
==Y —-=(=+)=(—)=(4—
(2 5) 2(2 2) ( 100) ( 100)
1, 1 2 944 44

— Y - _x2 C = =970—
G35 x2 5735 ~ 253

3 1 33 3 289 89
G+ zG-D="2=2
2 5 54 4 10 100

3 3, 32 1, &3

IV - Z(ZH (=YY= (——
(4 5) 5(3 (4)) ( 200)

3 1, 11 3 37

T V4 (=== (———_
(5 6) 2(3 4) ( 1800)
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